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G5-Mi-Lesson 15

1. Draw place value disks on the place value chart to solve. Show each step in the standard algorithm.

5.3 is divided into 4 equal groups
53+4=_1325 There is 1.325 in each group.
 ones |o|  Temths | Hundredths | Thousandths L1325
s e R e s D e R T 4[5.3 0 0
£2¢ - 4
- 1 2
P 0
- 8
2 0
- 2 0
]
in each group,
thereis 1 one
3 tenths
2 hundredths
5 thousandths,
or 1.325. //
When | share 13 tenths equally with 4 In order to continue sharing, or
groups, there are 3 tenths in each dividing, I'll exchange the 2 remaining
groug, and 1 tenth remains.. hundredths for 20 thousandths.
2. Solve using the standard algorithm.
g-5= 1.8 i 8
In order to continue dividing; I'll rename
5(9. 0 the 4 remaining ones as 40 tenths.
- 5 e _
9 is divided into 5 equal P : 40 tenths + 5 = 8 tenths
groups. There is 1.8 in each — 4 g
group.
]
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3. Four bakers shared 5.4 kilograms of sugar equally. How much sugar did they each receive?

I'ii draw a tape diagram and label it 5.4 kg. Then Pl
cut it into 4 equal units.

5.4kg
4
: : 4 units = 5.4 kg

funit=5.4%kg+4
= 1.35 kg

To find the amount of sugar each baker
will receive, I'll divided 5.4 kg by 4.
1. 3 5 '
4 g 5 4 €
- 4 ¢'ll solve using the long division algorithm. J
1 4
- 1 2
2 0
- 2 @
¢

Euch baker received 1. 35 kilograms of sugar.
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